Two-Column Proofs

1. Mark the given information on the diagram. Give a reason for each step in the two-column
proof. Choose the reason for each statement from the list below.

o X
Given: YX=WX
7ZX bisects LYXW
o 1o
Prove: YZ=WZ & W
Z
Statement Reason
1. ?)ZEW 1. G;Vl’/n
2. 7ZX bisects LYXW 2. G,‘ ——
L LYXZ = L WXZ . '
3 Y 3 0°7F’1 Q‘Fd:l/q[& é,{/&c"af
4. XZ=XZ 4 RP, C
5. AYXZ = AWXZ 5. fAf
6. YZ=WZ 6. C PcTC

Choose a reason from this list:

Definition of angle bisector

Definition of congruent triangles or CPCTC
Given

Given

Reflexive property of congruence (R P, ¢ )
Side-Angle-Side congruence ((JA f)

Ponty of Conyrccent Trlaasles oo

G ondin
rrespond ] (Cfc,z’cj

C,a'\lj/“‘t c” :
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Two-Column Proofs (Continued)

2. Mark the given information on the diagram. Give a reason for each step in the two-column
proof. Choose the reason for each statement from the list below.

Given: AD=BC A H B
AB=DC (
Prove: X]S“ﬁ ([
D % C
Statement Reason
1. AD=BC L dot “n
2. —A_B'Eﬁ—é 2' G’(I[/ﬁ,’
3. AC=AC 3. RRC
4. ACAD = AACB 4. 55
5. ZDAC=/BCA 5. CbPcTC
6. AD” BC 6 ConU;r'Jz_ )‘[ AIA -/—/u-_o/‘c.,”?

Choose a reason from this list:

Definition of congruent triangles

Given
Given
If alternate interior angles are congme}%t ythen the lines are parallel. ( Converse oF
Reflexive property of congruence s C
ATA Theoren)

Side-Side-Side congruence ( SJJ )
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Two-Column Proofs (Continued)

3. Complete the following proof by filling in each statement. Remember to mark all given
information on the diagram.

A ” B
Given: ABCD is a parallelogram !
Prove: AABE = ACDE
£
D ‘ C
Statement Reason

[u—y

. /A('BCD ’54/0“/)[//&(9‘@”1 1. Given

2. In a parallelogram, opposite sides are

> @ 'ZE = «5(—‘/ congruent.

3 E o /;:—Cj 3. Iel; jhpstrgilflogram, diagonals bisect
4 —-D? o~ Z:B’ ' 4, I;a shpgiﬁ(lalre.logram, diagonals bisect
5. AABE £ A CDE 5. Side-Side-Side congruence

Choose a statement from this list:

AB=Ec/
ABCD is a parallelogram /

DE=EB /
AABE = ACDE

AB=DC /
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Two-Column Proofs (Continued)

4. Fill-in the statements and reasons for the following proof.

Given: DE|AV D >— "
ADAV = AEVA
Prove: DAVE is an isosceles trapezoid
A A%
St_ziefrgent Reason
L DE LAY L Clven
2. ADAV £ AEVA 2. Given
> DA\/G' /rr a lLN,nuU‘M- > «Dﬂhﬂﬂ”"" of {Mlpcuf‘o(_
‘“ DA EEV " Dot of congruart trivedes
5 DAVE /5 an /J’w'c/c/A,J z‘N/. 3. ‘Dc:zc»/n ST cW“LJ flv'/azw‘/(

Possible Statements

DAVEisa trapezoid/
DA=EV/
DAVE is an isosceles trapezoid /
ADAV = AEVA

be[v /

Possible Reasons

Given «

Definition of isosceles trapezoid V|
Given "

Definition of trapezoid v

Definition of congruent triangles
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Two-Column Proofs (Continued)

5. Complete the following proof.

_ R Y NA
Given: MR is a diameter of ©® O 0 k.
AR = MK
-
Prove: AMAR = ARKM K M
Statement Reason
1. MR is a diameter of ©® O 1. G,“/f,,,\
2. @ and@ are semicircles 2, ,De 77/4 .ﬂr a ge 'ﬂ’lo:/‘C/(“f

3 Aa ansle ingerhed ia & pemicirele

3. £ MAR and ZMKR are right angles ‘wr @ skt cngle

4. /MAR = /MKR 2. Al risht angley ae
5. MR=MR 5. Rp,C

6. AR = MK 6. Grven

7. AMAR = ARKM 7. HL

Choose from this list of reasons.

An angle inscribed in a semicircle is a right angle.
All right angles are congruentv

Definition of a semicircle

Given ¢

Given v
Hypotenuse-Leg Congruence ( H 1,)
Reflexive property of congruence ¢ R Po Q)
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